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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
' 100kN/m%# 2 % 1.00/0.00 ~ 1.80 127.71|3m%E#BZ B3| - ~ = - -| 100kN/MZ#Z % 1.00( 11.15 ~ 19.79 127.71|3m%E#B2 % -~ = = =
ZnList 1.00/1.80 ~ 959 100.00| Zhlist 000 ~ 959 2.21 11.15 ZhnLst 1.00[ 500 ~ 11.15 100.00f =15t | 500 ~ 19.79] 2.21 11.15
5 100kN/ Mm% 2 % 1.00/0.00 ~ 1.98 130.51|3m%E#BZ 3| - ~ = - -| 100kN/mM%#B% % 1.00( 11.16 ~ 21.40 130.51|3m%E#B2 % -~ = = =
ZnList 1.00/1.98 ~ 976 100.00f Zhist [0.00 ~ 9.76| 2.20 11.14 ZhnLst 1.00[ 500 ~ 11.16 100.00f =4t | 500 ~ 21.40| 2.20 11.14
5 100kN/m%# 2 % 1.00/0.00 ~ 210 132.61|3m%E#BZ 5| - ~ = - -| 100kN/M%#8Z% % 1.00( 11.15 ~ 22.63 132.61|3m%E#B2 % -~ = = =
ZnList 1.00[2.10 ~ 9.89 100.00[ Zxlust | 000 ~ 9.89 252 12.72 ZhLst 1.00[ 500 ~ 11.15 100.00f = st | 500 ~ 22.63] 252 12.72
A 100kN/m%# 2 % 1.00[0.00 ~ 213 133.00| 3m%E#BZB| - ~ = - -| 100kN/M%#8Z% % 1.00( 11.17 ~ 23.02 133.00| 3m%E#BZ % -~ = = =
ZnList 1.00[2.13 ~ 991 100.00| Zh st 000 ~ 991 251 12.70 ZhLst 1.00[ 500 ~ 11.17 100.00f =14t | 500 ~ 23.02| 251 12.70]
- 100kN/ Mm% 2 % 1.00[{0.00 ~ 2.01 131.00| 3m%E#BZ 5| - ~ = - -| 100kN/M%#BZ % 1.00( 10.89 ~ 20.24 131.00( 3m%E#B2 % -~ = = =
ZnList 1.00[2.01 ~ 979 100.00f Zhist (000 ~ 9.79| 224 11.33 ZhLst 1.00[ 500 ~ 10.89 100.00f Zh st | 500 ~ 20.24| 2.24 11.33
5 100kN/m%# 2 % 1.00/0.00 ~ 2.00 130.93| 3m%E#BZB| - ~ = - -| 100kN/M%#BZ % 1.00( 10.88 ~ 20.14 130.93|3m%Ei#B2 % -~ = = =
ZH LISt 1.00[2.00 ~ 9.79 100.00f Zhist (000 ~ 9.79| 224 11.34 ZzhLst 1.00[ 500 ~ 10.88 100.00f =4t | 500 ~ 20.14| 2.24 11.34
7 100kN/ Mm% 2 % 1.00/0.00 ~ 1.33 120.22| 3m%E#BZB| - ~ = - -| 100kN/M%#BZ % 1.00( 10.71 ~ 15.44 120.22| 3m%E#BZ % -~ = = =
ZhList 1.00/1.33 ~ 9.12 100.00| Zhkist |0.00 ~ 9.12[ 2.10 10.61 ZFhLst 1.00[ 500 ~ 10.71 100.00f Zh st | 500 ~ 1544| 210 10.61
: 100kN/MZ#B% % 1.00[0.00 ~ 197 130.36(3m%x#BR S| - ~ = - —| 100kN/mM%#BZ% % 1.00( 10.90 ~ 19.96 130.36| 3m%x#B2 % = ~ = = =
ZhList 1.00/1.97 ~ 975 100.00| ZhLlst |0.00 ~ 9.75| 2.24 11.33 ZFhLst 1.00[ 500 ~ 10.90 100.00f Zh st | 500 ~ 19.96] 224 11.33
g 100kN/MZ#B% % 1.00/0.00 ~ 1.99 130.66|3mZ#BR5H| - ~ = - —| 100kN/mM%#BZ% % 1.00( 10.88 ~ 20.02 130.66| 3mx#Bz 2 = ~ = = =
Zh st 1.00/1.99 ~ 9.77 100.00| ZhList |0.00 ~ 9.77[ 2.24 11.34 ZFhLst 1.00[ 500 ~ 10.88 100.00f Zh st | 500 ~ 20.02| 224 11.34
0 100kN/MZ#B% % 1.00{0.00 ~ 0.11 101.57|3mZ#BRB| - ~ = - —| 100kN/mM%#BZ% % 1.00( 1054 ~ 10.82 101.57|3m%#Bz % = ~ = = =
Zh st 1.00/0.11 ~ 7.89 100.00| ZhLlst |0.00 ~ 7.89 1.76 8.87 ZFhLst 1.00[ 500 ~ 10.54 100.00f Zh st | 500 ~ 10.82| 1.76 8.87
» 100kN/MZ#8 2 % -l -~ = -|3m%EiHEZ % -~ = = —| 100kN/m%#BZ % = -~ = ~-|3mEHZS o ~ = = =
zhs -l -~ = -| #hrlst -~ = = = ZhLst = -~ = —-| Ehilst = ~ = = 5
19 100kN/mMZ#8 2 % -l -~ = -|3m%EiHBZ % -~ = = —| 100kN/m%#BZ % = -~ = —-|3mEHZS o ~ = = =
zhst -l -~ = -| Fhrlst -~ = = = Lot = -~ = —-| Fhilst = ~ = = 5
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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